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long long min_total cost(int N, int M,
vector<int> A, vector<int> B,
vector<int> W, long long K,
int X, int Y)
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2 < N <£100000

1< M <200000
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0< K <2x10"
0<X<N,0<Y<N
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(10 Azuuw) N < 1000, M < 2000,W <213 K =0
(17 azuuw) N < 1000, M < 2000, W < 27

(26 Azuuw) N < 1000, M < 2000, W < 213
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min total cost(5,5,
[e,3,2,2,4], [1,0,1,3,3],
[1,9,6,7,2], O,
1, 4)
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Tunsain K = 1 insanasazisonilandu

min total cost(5,5,
[e,3,2,2,4], [1,0,1,3,3],
[1,9,6,7,2], 1,
1, 4)
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Tunsain K = 8 insanasagisonilandu

min total cost(5,5,
[0,3,2,2,41, [1,0,1,3,3],
[1,9,6,7,2], 8,
1, 4)
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e Time limit: 3 seconds
® Memory limit: 512 MB



